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48 |58 |6A|7A|8A|9A (10A[118|128B|18 | 2R |3A| & R
HIRER 42| 38| 52| 35| 37| 32| 47| 45| 33| 44| 57| 32| 494| 1000 %
XEh 15 9| 16| 11| 13| 15| 23| 16| 10| 12] 18| 10| 168| 340%
ES 26| 21| 33| 19| 22| 15| 23| 28| 18| 23| 29| 19f 276| 55.9%
BEFA—IL 1 2 5 2 1 1 5 7 9 3 46 9.3 %
To24Y 0 0 0 0 0.8 %
FAX of o of o o[ o] o] o 0.0 %
(2)EER A
BE B 7l %I FAIRR AR |5A|6A|7RA|8RA|9RA (10A[11A|12A|1A | 2R |3A| & Rt
A B (W3R oo of o o o o 6 o o o o o 6 36 %
XEER 2 2 1 3 2 3 5 1 0 2 0 22 131 %
KEER 3] 2| 5 4 3 2 2 5 3 3 7 1 40 238%
AEER 4 31 2| 2| 2 2 5 2 2 3 3 3 33 196 %
£ER 4 1 4] 1 3] 5 3 2| 2 3 1 4 33 196 %
TEER 3 1 3l 3| 2| 4 4 2 2 3 5 2 34/ 202 %
&t 15 9| 16| 11| 13| 15| 23| 16| 10| 12| 18] 10 168| 100.0 %
(3)HRRE 7
BE B 7l %I IR R 4R |5A|6A|7RA|8A|9RA (10A[11A|12A|1A | 2R |3A| & -3 e
NPO% A 20 21| 23| 11| 13| 9| 10| 13| 12| 14| 16| 14| 176 356 %
TDDIEN 1 8 2 2 5 11 3 0 0 4 9 48 9.7 %
5PN 15 12| 12| 18] 11| 17[ 11| 13| 18] 19 6 158 320%
EEEK 10l 9 10 3 of 18/ 8 12 18] 3 111 22.5 %
TER o 1 o0 o o of of o o 1 0.2 %
=1 42| 38| 52| 35 37| 32| 47| 45| 33| 44| 57| 32 494| 100.0 %
2 FEHEHERAR
(1) FERD
&% E B 4R | 5B |6A | 7A |8B |9A |10R|11A|12B|1B (2B |38 | & | #mk
NPO- T RiEEIZ 1R 1= 5 1 71 6| 5| 2| 6 1 1 6 8 1 49 9.9 %
FAE%IL 10| 11 9| 11| 12| 13| 18| 20| 11| 19| 20 6| 160 324 %
HEDE&EEHEHK 3| 2| 3| 2| 2| 3 3| 4| 2| o| 7| 3 34 6.9 %
H&EOEE-EE 10 7| 18 7 9 6 7 6 8| 10| 10| 6 104 21.1 %
&AL - T 75 10| 14| 5 1 1 3 7 5 1 4| 8| 10 69 14.0 %
ENDCSRMH ol ol o] of o 1 ol ol o] of o] o 1 0.2 %
R ITE -t EREDEE 0 1 3] ol o] o 1 1 ol of o] o 6 1.2 %
RIUTAT DB 2 1 0 2 1 1 2 4 3 3 3 1 23 47 %
NPO;E A DfiRER 0| 1 of 2| 4| o of o 2| of of 1 10 20 %
ZD1th 2 0 7 4 3 3 3 4 5 2 1 4 38 7.7 %
H ol ol ol ol of of ol o] o] o] of o 0 0.0 %
EELL ol ol ol ol of of of o o] o© 0 0 0.0 %
H 42| 38| 52| 35| 37| 32| 47| 45| 33| 44| 57| 32| 494 1000%
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7 ¥ 48 |5A |68 |7RA | 8B |9A |10A|11A[12R| 1B (2R |38 || & R
RiE. EE. BUDBE 17 15[ 10| 11 8 8| 12| 16| 10| 12| 21 6 146 29.6 %
FELDREERK 1 3 6 3 1 5 6 5 9 9| 11 5 64 13.0 %
AHE-EH ol ol ol ol 3| o] of o] of o] o 1 4 0.8 %
HEHE 0 1 5 41 4 2 0 6 1 0 0 0 23 4.7 %
BERM XL L thig o kB ol ol ol ol of ol ol ol o 2| o o 2 0.4 %
AT 3E . E T RAR—Y 8 3 9 5| 4 2 2 3 1 41 3 5 49 9.9 %
FbHIKY 3 0 3 0 3 2 7 2 2 3 6 0 31 6.3 %
RERSE 3| 12 6| 4| o0 1 5/ 4 o| 5| 2| 4 46 9.3 %
BEHEMTOIRE 0 0 0 0 0 0 0 1 0 0 1 0 2 0.4 %
FADEE-FHEIIME-XIE| 0 0 5 1 1 1 4 1 0 0 2 3 18 3.6 %
RO TAT7—R% 1 1 2| 2 1 ol 2| o| 3| 4| 4| o 20 4.0 %
(E & 17 1 1 1 1 4 4 6 2 1 2 1 3 27 5.5 %
KEMIE 0 0 0 0 2 0 0 0 0 1 1 0 4 0.8 %
BHIbtt = 2] 0| O 1 2 0 1 1 ol o0 1 1 9 1.8 %
BLHARSE 1 ol ol ol of o] o] of 2| of o] o 3 0.6 %
£ DR E 0 0 0 0 0 0 0 1 0 0 0 0 1 02 %
BEITBOFEMIE ol ol ol o o 1 ol ol o| o] o] O 1 0.2 %
B NRAR -ERAKERE ol ol ol ol of ol ol ol ol o o o 0 0.0 %
HEERE ol ol o] ol ol o] of o] of o] of o 0 0.0 %
ZDith 2 0 2 1 1 3 0 2 3 1 0 0 15 3.0 %
TER 3| 2 3| 2| 3 3| 2 1 1 1 4| 4 29 5.9 %
sEGL ol ol o]l ol ol o] of o] of o] of o 0 0.0 %
& 42 ] 38 52 35 37 32 47] 45] 33 44] 57 32] 494] 1000 %




